

ABOUT US



Decentralization is not a new concept. When building a technology solution,

three primary network architectures are typically considered: centralized,

distributed, and decentralized. While blockchain technologies often make

use of decentralized networks, a blockchain application itself cannot be

categorized simply as being decentralized or not. Rather, decentralization is a

sliding scale and should be applied to all aspects of a blockchain application.



What is Forex?

The foreign exchange market is where currencies are traded. This international market's most unique aspect is that it lacks a central marketplace. Instead, currency trading is conducted electronically over the counter (OTC). This means that all transactions occur via computer networks among traders worldwide rather than on one centralized exchange.





MetaTrader 5?

MetaTrader5
A powerful platform for Forex and Exchange markets.

Successful trading starts with convenient and functional trading. MetaTrader 5 is the best choice for the modern trader.





GOLDIX

- > DIRECT INCOME
- > LEVEL INCOME
- > RANK INCOME
- > AUTO PASSIVEINCOME BY BOT SUBSCRIPTION



GOLDIX

INVESTMENT AMOUNT

MINIMUM: 50 \$ MAXIMUM: 100000 \$

BOT FEE: \$50





YOU WILL GET YOUR INCOME ACCORDING TO YOUR CURRENT BALANCE AMOUNT EXCEEDING YOUR PACKAGE WILL BE LAPSED.

S.NO	LEVEL NO.	PERCENTAGE	DIRECT
1.	Level 1	15 %	1
2.	Level 2	8 %	2
3.	Level 3	4 %	4
4.	Level 4	2 %	7
5.	Level 5	2 %	7
6.	Level 6	2 %	7
7.	Level 7	2 %	7
8.	Level 8	2 %	77
9.	Level 9	2 %	7
10	Level 10	0.75 %	10





S.NO	LEVEL NO.	PERCENTAGE	DIRECT
11.	Level 11	0.75 %	10
12.	Level 12	0.75 %	10
13.	Level 13	0.75 %	10
14.	Level 14	0.75 %	10
15.	Level 15	0.75 %	10
16.	Level 16	0.75 %	10
17.	Level 17	0.75 %	10
18.	Level 18	0.75 %	10
19.	Level 19	0.75 %	10
20	Level 20	0.25 %	12





S.NO	LEVEL NO.	PERCENTAGE	DIRECT
21.	Level 21	0.25 %	12
22.	Level 22	0.25 %	12
23.	Level 23	0.25 %	12
24.	Level 24	0.25 %	12
25.	Level 25	0.25 %	12
26.	Level 26	0.25 %	12
27.	Level 27	0.25 %	12
28.	Level 28	0.25 %	12
29.	Level 29	0.25 %	12
30	Level 30	0.1 %	15





S.NO	LEVEL NO.	PERCENTAGE	DIRECT
31.	Level 31	0.1 %	15
32.	Level 32	0.1 %	15
33.	Level 33	0.1 %	15
34.	Level 34	0.1 %	15
35.	Level 35	0.1 %	15
36.	Level 36	0.1 %	15
37.	Level 37	0.1 %	15
38.	Level 38	0.1 %	15
39.	Level 39	0.1 %	15



RANK INCOME



S.NO	LEVEL NO.	CONDITION	SALARY INCOME
1.	STAR	IF YOU MATCH 25000 \$ BUSINESS FROM ANY 3 ACTIVE LEGS CONTAIN 25000 \$ BUSINESS FROM EVERY MONTH AND YOU GET SALARY INCOME 500 \$ EVERY MONTH 12 ACTIVE DIRECT COMPULSARY	\$ 500
2.	GOLD	4 STAR RANK HOLDER FROM DIFFERENT LEGS +15 ACTIVE DIRECT COMPULSARY	\$ 1000
3.	DIAMOND	4 GOLD RANK HOLDER FROM DIFFERENT LEGS +18 ACTIVE DIRECT COMPULSARY	\$ 2000
4.	RUBY	5 Diamond RANK HOLDER FROM DIFFERENT LEGS +20 ACTIVE DIRECT COMPULSARY	\$ 4000



DIRECT INCOME

You will get 80% of \$50 Bot Fee 40\$ Direct Income of your Every Direct BOT Fee



GOLD



AUTO PASSIVE INCOME BY BOT SUBSCRIPTION



- 1. BOT SUBSCRIPTION CHARGES: \$40 for 28 days only
- 2. YOUR EARNINGS: 80% of direct downline (Minimum \$40 and Maximum \$400)
- 3. YOU WILL GET \$120 from your 3 direct team
 - * \$40 reserved for monthly subscription charges
 - * \$80 for bot passive income
- 4. NOW NEED TO SUBSCRIBE BOT 1 WITH \$80 FROM YOUR EARNINGS

\$80 (\$70 Distributed into 4 level's & \$10 for company).

- * When your Direct Income is 80\$ that is Auto deduct for Bot 1.
- * When Complete Your 3 Direct than you are qualify for Bot 1 Income.

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$17.50	\$ 52.50
2.	Level 2	9	\$17.50	\$ 157.50
3.	Level 3	27	\$17.50	\$ 472.50
4.	Level 4	81	\$17.50	\$ 1417.50



^{*} When your BOT 1 is Completed then, 160\$ is Auto deduct for Bot 2.





^{*} And \$525 Deduct For Super BOT 1.

^{*} And \$80 for Re-birth in BOT 1.

^{*} And \$40 for Reserve Wallet



\$160 (\$140 Distributed into 4 level's & \$20 for company)

- * A Full Structure Contains 120
 Positions For Potential Earnings of 4200 \$
- * When your BOT 2 is Completed than,320\$ is Auto deduct for Bot 3.
- * And \$1050 Deduct For Super BOT 2.
- * And \$160 for Re-birth in BOT 2.
- * And \$40 for Reserve Wallet

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$35	\$ 105
2.	Level 2	9	\$35	\$ 315
3.	Level 3	27	\$35	\$ 945
4.	Level 4	81	\$35	\$ 2835



\$320 (\$280 Distributed into 4 level's & \$40 for company)

- * A Full Structure Contains 120 Positions For Potential Earnings of 8400 \$
- * When your BOT 3 is Completed than,640\$ is Auto deduct for Bot 4.
- * And \$1575 Deduct For Super BOT 3.
- * And \$320 for Re-birth in BOT 3.
- * And \$40 for Reserve Wallet

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$70	\$ 210
2.	Level 2	9	\$70	\$ 630
3.	Level 3	27	\$70	\$ 1890
4.	Level 4	81	\$70	\$ 5670



\$640 (\$560 Distributed into 4 level's & \$80 for company)

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$140	\$ 420
2.	Level 2	9	\$140	\$ 1260
3.	Level 3	27	\$140	\$ 3780
4.	Level 4	81	\$140	\$ 11340



^{*} A Full Structure Contains 120 Positions For Potential Earnings of 16800 \$

SUPER BOT 1



* \$525 (\$500 Distributed into 2 level's & \$25 for company)

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$ 250	\$ 750
2.	Level 2	9	\$ 250	\$ 2250

^{*} A Full Structure Contains 12 Positions For Potential Earnings of 3000 \$

SUPER BOT 2



* \$1050 (\$1000 Distributed into 2 level's & \$50 for company)

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$ 500	\$ 1500
2.	Level 2	9	\$ 500	\$ 4500

^{*} A Full Structure Contains 12 Positions For Potential Earnings of 6000 \$

SUPER BOT 3



*\$1575 (\$1500 Distributed into 2 level's & \$75 for company)

S.NO	LEVEL NO.	TEAM	INCOME	TOTAL INCOME
1.	Level 1	3	\$ 750	\$ 2250
2.	Level 2	9	\$ 750	\$ 6750

^{*} A Full Structure Contains 12 Positions For Potential Earnings of 9000 \$

^{*} Your total payout each time, for all structures, BOT and SUPER BOT, is \$4,350 and the total you can potentially receive, from all structures each time, is \$49,500 and these are funds that can be withdrawn, daily.

Supporting Wallet













PUTTING ALL THE CONDITIONS TOGETHER

It all starts with a simple qualification in the BOT FEE of having at least 3 personal invitees who have paid their \$50 in the BOT SUBSCRIPTION FEE. This is the only qualification for YOU to be able to pay and participate in the BOT INCOME and the SUPER BOT INCOME. See the entire flow below, once the BOT INCOME are Ready:

- * Stay current and qualified in the BOT SUBSCRIPTION FEE.
- * Pay \$80 for BOT 1
- * Complete BOT 1
- * Pay for BOT 1 again, within the 3-day grace period
- * Pay \$525 for SUPER BOT #1 (optional)
- * Complete SUPER BOT #1
- * Pay for SUPER BOT #1 again, within the 3-day grace period
- * Pay \$160 for BOT #2
- * Complete BOT 2
- * Pay for BOT 2 again, within the 3-day grace period
- * Pay \$1,050 for SUPER BOT #2 (optional)
- * Complete SUPER BOT #2
- * Pay for SUPER BOT #2 again, within the 3-day grace period
- * Pay \$320 for BOT 3.
- * Complete BOT 3
- * Pay for BOT 3 again, within the 3-day grace period
- * Pay \$1,575 for SUPER BOT #3 (optional)
- * Complete SUPER BOT #3
- * Pay for SUPER BOT #3 again, within the 3-day grace period
- * Pay \$640 for BOT 4.
- * Complete BOT 4.
- * Pay for BOT 4 again within the 3-day grace period



Your total payout each time is \$4,350 which you can receive from your structures, and the total you can receive, each time, is \$49,500! And these are funds that can be withdrawn from the BOT Wallet. The TRADE INCOME and the BOT INCOME will not only meet the goal of GoldFXwhich is to provide the means for our members to become financially free, but this will also help the company to become financially solid. We will have the means to completely close the door on the past and open the door to a bright abundant future.

GOLDEX

Contact Us...



info@goldfx.digital





